
0 10 20 30 40 50 60 70 80 90 100

60 min.

D

FR

NL

CZ

HU

TR

GB

IT

PL

SK

RO

RU

Montageanleitung

Notice de montage

Handleiding voor de montage

Montážní návod

Szerelési útmutató

Montaj talimatı

Assembly instructions

Istruzioni di montaggio

Instrukcja montażu

Návod na montáž

Instrucţiuni de montaj

Инструкция по монтажу

Platnost / Stand : 24.04.2023

1663

084-F.8269

melanie.plewka
Anschrift



?

Typ • Type • Tip • Típus • Tipo •

тип

Nr. • No. • N° • номер • Č. • Sz

Name • Nom • Nome • Naam • 

Nazwa • Jméno • Názov • Név •

Denumire • isim • название

 

Service • Assistenza • Dienstverlening • Serwis • 

     Servis • Szerviz • Сервисная служба 

A

 6x

C

6,3x30

6x

B

7x60 12x

D

4 1x

1

2

3

4

1617-7000

1663-010

1663-7001

1663-7000



2

A

6x

1

B

6x

B

6x

D

 

2

3

4

4



3

C

6x

1

2



0 10 20 30 40 50 60 70 80 90 10060 min. 0 10 20 30 40 50 60 70 80 90 10060 min.

Zde si mů ž ete změ ř it kování k př esnému urč ení typu dle velikosti. Vš echny rozmě ry jsou uvedeny v milimetrech.

Here, you can measure the furniture hardware to recognise a certain part according to its size. All proportions are in millimetre.

Hier können Sie die Schrauben zur besseren Identifizierung nachmessen (alle Maßangaben in mm).

Tutaj mogą sobie Pań stwo zmierzyć okucie do dokł adnego ustalenia rodzaju wedł ug rozmiarów. Wszystkie rozmiary podawane są w milimetrach.

8x

A

5x20 14x

B

7x

J

3x

D

M6x30

6x

G

6/20 3x

H

3x

I

10x

C

4x

F

M6x164x

E

M6x60 M6x65

M6 3x

K

4x

L

4x

M

2x

N

5x

O

1x

P

M6x20

7x50 8x40

1x

R

Stand 21.12.2022

8x

S

125 x 165 cm

140 x 180 cm

032-F.3264

melanie.plewka
Anschrift



BENCH SECTIONS

BAUTEILE

CZĘ Ś CI

DÍLY

J
4x

I
3x K

3x

1L

1P

2 3

4

5

6

4

2 3

1L 1P

E
4x

J
3x

4

5
G
6x

D
3x

H
3x

S
4x

S
2x

S
2x

5 6 7

7



1.

2.

3.

4x
L

4x
M

8x
A

10x
C

5x
O

2x
N

4x
F

4x
B



10x
B


	084-F.8269.pdf
	032-F.3264.pdf

